OPENING WEBINAR
EIMBSOFTWARE VERSION 6

Pole of expertise in Life Cycle Analysis and eco-

BUREAU design of BCIE bureau Veritas
-t FEBRUARY 23, 2023




WEBINAR

r Agenda

I EIME, more than 25 years of evolution

I A 6" version to meet the challenges of the LCA of |

the future Damien PRUNEL Yann FABRE
CODDE manager IT manager - EIME

I The main new features

I Useful information

T8iE
L C | E

Béranger HOPPENOT Valérie GILLET
Senior LCA/Ecodesign CODDE Sales
consultant manager

1828
| BUREAU |
VERITAS






3 MAIN VERSIONS

=1Y ¥4

eime

1996-2011 2012-2015 2016-2022

version 1to 4 version 5.0 version 5.5




1996-2011

version 1to 4

%3 Connexion Bureou & distance

Bureau & distance

3

Connexion
Ordeateus v
Nom d'ibsatow KEPLER\maud

Vaa infometons o identiication sescnt demardées kors de la
corravion

[ Comenon ][ Arruer ] [_ae ] [_optons > ]

IQEIME.Des.igner
Project Edit Mode Window Help

| & EIME Designer
Project Edit Mode Window Help

Oo = ‘ ; I’F [ | & @d.‘%. Tracking : I<None>

v | Show % of weight detailed: [

L] External Links:
carte UT143

& carte IR160
&Y boitier plastique

&

boitier plastique

&

carte UT143

&

carte IR169

z

[ransport (Ar,...

Save Cancel

| Project: Projet de yann (80D 10.0, 2008)

Fitter: |

Components

L d
shorthame I name Unit sum M D u
RMD Raw Material Depletion V-1 Phone Model
ED Energy Depletion MJ ratio : 1.000
WD Water Depletion dm3
GW Global Warming g ~CO2
oD Ozone Depletion g ~CFC-11
AT Air Toxicity m3
POC Phatochemical Ozone Cr... g ~C2H4
A8 Air Acidification g ~H+
WT Water Toxicity dm3
WE ‘Water Eutrophication g ~PO4
HAP Hazardous VWaste Produ... kg . il 1]
11 indicateurs d'impact quantifies
Impacts environnementaux
flux physiques

_sunmery [0 ] eo] wo] ow] ob] at] poc] aa] wl wel e

Vsum VM MDD VU

'ﬁwiwk

88

8

=]

&+ Absolste (" Relative
Jmpact Indicators | Design Indicators | Bills of Materials |
=]
Case comparison (Summary, sum)

o

w

"

®

"

n

-

- Ak 00N,

i £ EIME Graphic == EcE ="

% Interphase repartition for Phone_Model

w

& Radar zoom

E=H Eol 53

yann yann e l. Category Quantity
B 1aptop computer, at plant New [} Battery (alkaline) ECO-174- 21 Batteries unit of battery (56 9)
¥ Yooz Clone @ |Battery (Lead Acid, Val... |CODDE-... 21 Batteries Production of Valve ... |Quantity of Battery
@ |Battery (Li-ions) ECO-173- |21 Batteries This modules desc block of battery
Delete @ [Battery (LiSoCI2) CODDE-... |21 Batteries Data for the producti... [Unit of battery
e @ |Battery (NiCd, sintered p...[ECO-171- [21 Batteries Cylindrical sealed c... |unit of battery
@ |Battery (NiCd, Plastic b... [CODDE-... [21 Batteries Cylindrical sealed c... |unit of battery
@ |Battery (NiMH) ECO-172- (21 Batteries Production of cylindr...|Unit of battery
Export @ |Bulb (tungsten halogen) |ECO-186- |22 Bulbs Tungsten halogen di...|Unit of bulb
R @ |Bulb (Incandescent - sta...[ECO-147- [22 Bulbs Standard bulb, singl... |unit of bulb (33g)
~| (e 2 Cable (high current) ECO-178- [23 Cables Copper conductor di... length
emal Data PYeTY R ES YT P
e — L

Help

100
o
80
)

-
=]

ndicators

@
=]

o
=]

&

w
=]

N
S

s

&

. . —
| I

S ¢
Indicators

©
o

Imprimer...

Zoom avant »

Zoom arriére »

|

Echelle automatique »



EIM

2012-2015

version 5.0

Case study: Produit Z

@ Ccase study created! =i Logout

JEIME

Home

Tree view

Name Quantity Unit Actions S
_ @ steel, stainless; RER 2.0 ka A X
&) *’ 1006 available modules (Version 2011)
B ProduitX ® You are in
B Accessoires &% @ [Ceimzs

Cadre & X @&
Guldnn X @
E‘Ruues rE -1

End-of-life treatment
Energy carriers and technologies
Materials production

* process
Chambre aair & X & Process
W Preu & x & Systems

*' rayon & X &

Transport services

List of transport steps Transport step: 1 - Inter China

° New step General information  Packaging
&0 1 - Inter China X1 name

1 - Inter China
& 2 - China - France X

Means of transport
‘ ELCD - Lorry Transport; articulated lorry, 27t cap E|

Total transported mass

Apply to each transport step

Average loading rate

85.0 %
Empty return rate
0.0 %
Distance

12000.0

le Impact Anal

Impactindicators Energyinventory Waste inventory  Water inventory

Impact indicator Unit
© | Air Acidification (AA for PEP) kgH+eq
© | irtoxicity (AT for PEP) m
© | Energy Depletion (ED for PEP) "
© | Global Warming Potential (GWP for PEP) kg COz eq.
© | Hazardous Waste Production (HWP for PEP) kg
© Ozone Depletion Potential (ODP for PEP) kg CFC-11eq
© | Photochemical Ozone Creation Potential (POCP for PEP) kg CaHaeq
© | Raw Material Depletion (RD for PEP) Y1
© | Water Depletion (WD for PEP) dm3
© | Water Eutrophication (WE for PEF) kg POu g
© | Water Toxicity (WT for PEP) m
Track
Bill Of Materials
Sum
[ Palyvinyl chioride: 5.71%
Cardboard: 57.08%
A for PEP
WI for PEP B AT for PEP —
Ty Nespresso puise
100
WE for PP €D tor P
| vow
¥ 8 o;
"
WO for PEP- WP tor PEp
RO tor FEP HAP for PEP
POCP for PEP  QDP for PEP oIS
Exremty. 310%

Pas 65%

sum
3.3045€-03
6.9483E+06
5.2683E+02
2.3895E+01
7.8878E-02
1.0223€-05
5.2948E-03
B7261E-16
2.4338E+02
1.1840E-03
6.8739E+00

Polycarbonates: 6.6%

_— Others: 9.53%

Total by Phases (%)

Manufacturing Distribution Installation Use End of life
231586-03 1.9076€-04 1.9605€-06 7.8904E-04 6.9548E-06
4.4839E+06 3.4359E+05 5.6296E+03 20984E+06 1.6789E+04
200356402 4.3364E+01 2.8053E-01 28199E+02 8.4739E-01
13784E+01 1.0774E+00 17344E-02 8.9723E+00 43641E-02
0.0000E+00 7.7431E-02 8.69856-07 8.9816E-04 5.4885E-04
4.9535E-06 1.31206-07 6.4200E-10 51316E-06 5.7270E-09
4.2782E-03 4.5230E-04 5.8437E-06 531626-04 16791E-05
6.0638E-16 6.8837E-17 5.1454E-19 1.9596E-16 92164E-19
1.8580E+02 2:3480E+01 23449E-02 3.8971E+01 1.0914E-01
3.1421E-04 7.6055E-04 1.9609E-05 8.9438E-05 1.72326-07
2.3460E+00 6.4754E-01 1.1381E-02 3.8579E+00 1.1078€-02
4

| W Manufacturing W Distribution WM Instaliation MMl Use MM End of life |

Impact indicator Set

[EIME version 4.1- PEP Ecopasst [=]

Actions
1) Exportto Excel



N

eime

2016-2022

version 5.5

& Case Sty Edt= Views Goto= Doamentsion= Help=

TR oistibution _iestatation _Use _End of e

Trackings | Select an indic

® B QO damienpunel@burswerizscon =

Funcliona Unt Rate 0 67 @ Gotopred

Libraries (Database Version: CODDE-2016-11)

® O Four dlectrique FR

S O
4R
o Erceinte foon | Nerme
o tslart thermiue. Four
o silage Embetage

Transport amont

ol st de chaulisge
2l sonde de température
o Mot

[ R——

F

o racade

o iece plastiques
o ichette

o Gl

» 7 Emballage .

b Teansport sment

= © Phase Information

& e

I Flows  © Case Studies

-
@
Q| Bl |1yee your seach i2 chars min)
Lo Hame
1 nemis) [y F—

i L] » 8 CODOE & BLCD

& iE Database item Properties

dWeime

QSearcs Case Stuies. (2 chars il

@ NevCuesudy gy mponCuse

2l Indicators for PEP ecopassport® - P... € @
4 [ Life Cycle Impact Analysis

4 [ g Impact indicators

® Allindicators

Air Acidification { AA for PEP)
Air Toxicity { AT for PEP)
Energy Depletion { ED for PEP)
Global Warming Potential ( GWP for PEP)
Hazardous Waste Production ( HWP for PER
Ozone Depletion Potential ( ODP for PEP)
Photochemical Ozone Creation Potential [ P
Raw Material Depletion ( RMD for PEP)
‘Water Depletion ( WD for PEP)
‘Water Eutrophication ( WE for PEP)
‘Water Toxicity { WT for PEP)

4 [ Resources use
® All Resources use
4 [, Waste categories
® All Waste categories
4 [ g Other environmental information describing
@ Al Other environmental information descrit
4 | gl Design indicators
® Manufacturing
® Distribution
® Installation
® Use
® End of life
4 [ Inventories
® Bill Of Materials - Product { BOM)
® Bill Of Materials - Process Losses { BOMW)
® Life Cycle Inventory ( LCT)

W for
Pep

WE for
Pep
WO for
Pep
RMD
for PEP
Poce
for PEP

A tors

d

I Track = @ ShowsHide relative values =

AA for PEP. AT for PEP

4 Compare | [ Export+

ED for PEP| GWP for PE HWP for PE ODP for PE POCP for P RMD for PE WD for PEF WE for PEP. WT for PEP

Ml
4.06e+0
0.00e+0
249%-3
1.85e-1
1.35¢-1

GWP for PEP

kg CO; eq.| kg kg CFC-11 kg CaHseq V-1 dm*

40261 372e-3  280e-8  840e5  107e-16  266e+0
937e-3  1.96e-8  178e-11 209%-6 192e-19 9.7de4
130e-2  10%-7  106e-11  682%-8  335e-21 26de-2
975e1  1.13e4 1256  957e5  467e17  2.29+4
1722 936e5 1039  28%5e6  1.12e19  330e2

All indicators

Indicators for PEP ecopassport® - PCR 2.1 - 2014

WHP for PEP 00 for PEP. POCP ot PEP RMD for PEP WO for PEP

W 1 Manufacturing B 2. Distribution B 3. Installation WM 4, Use W 5. End of life

Tree
kgH+eq m*
» © 1. Manufacturing 669e-5  BB2e+d
» © 2. Distribution 174e-6  259e+3
» O 3. installation 594e-8  6.05e+1
» Q4 use 1ided  1d2e+5
» ©) 5. End of life 15366 248e+3
100
0
©
n
o0
w
0
»
w0
oy AT foc 2 o pep
Arfor
[
600
AT for
rer
400
300
0 for
=
&
e
for Pep
e
for e
Gor
for kP

Frps——re.

Is - Product { BOM) | Sum

2255 Expuandatie pelpyre

FE e —

s

L8788 | Steel ot o,

kg PO ec m®
3.73e-5 1.24e-1
1.74e-8 4.01e-3
3.76e-9 8.76e-5
333e-5 1.4%e+0
7.42e-6 1.3

WE for PEP WT for PEP



6th VERSION T
THE CHALLENGE: gl
LCA OF THE F

BUREAU
VERITAS



“ Our vision

Since 1996, the CODDE department of LCIE
Bureau Veritas evolved to meet normative and
industrials requirements.

Future of LCA will have to reinforce current
solutions by meeting the challenges of
tomorrow: cybersecurity, big data,
traceability. In order to respond to the low
carbon strategies 2030-2050.

In order to meet the low carbon strategies of
2030-2050.

| BUREAU |
VERITAS




Acknowlec
dcea

Fiability

Perforn CARBON

NEUTRALITY

Automatisa privacy

bersecurity

= B UREALU ]
VERITAS




TWO VERSIONS

® 6

. API

eime eime

BUREAU
| VERITAS |




PRESENTATION

This 6t version is based on a total overhaul of the source code in order to strengthen calculation
performance and meet the challenges of European and international compliance with environmental
claims.

The fundamentals of EIME remain preserved: create an intuitive and ergonomic interface, with
continuous updates.

@ Advantages @ Objectives
I Ready-to-use database and set of indicators I Product carbon footprint (ISO 14067)

I Annual database update I LCA and ecodesign studies (ISO 14040/44)
I Initial training from 2 days I Product environmental declaration (ISO 14025)

VERITAS



KEY FIGURES

/AN

oa

Number of Number of
elementary flow ‘ Indicators

Database size Complexity of
. 100 INDICATORS Indicators

130 000 FLOW

>25 000 DATA "j : UP TO 75 000 FLOW

1828 1;'

* Comparison between EIME v5 and v6 when released Y
\ ; [ VERITAS B




New in the 6th version, EIME API is the program interface that allows the EIME software to be
connected to other software, or third-party services, in order to exchange data and functionalities.

It provides a response to industrial challenges: automation, massive data processing, data traceability,

etc.

The use of EIME API is done with the IT support of LCIE Bureau Veritas.

©

Objectives

Automatisation

Traceability and reliability of input data with
existing quality tools

Massive data processing (volumetry, scoring,
machine learning, etc.)

3

o

|BUREAU |
VERITAS



CYBERSECURITY

L3
MISSION
To guarantee all our users a secure workspace, whatever the size of their company. - \_“', __- .~' ,' '- o y / ' n
A RNy o~ 7 o -
. o . e 1’1 3 o .
O Sem - " . €
EVOLUTIONS :‘ RS - A :

In our time, companies are increasingly subject to malicious attacks and
must increase their security requirements.

As a SaasS software, EIME is among your concerns.

LCIE Bureau Veritas is working with Yogosha, a company specializing in
security testing, to strengthen EIME.

Added values
SSO authentification
Encryption of database

« grey box » penetration testing
Annual update of security tests




BIG DATA

Process, create and analyze a growing volume of data to bring out the solutions of
tomorrow.

EVOLUTIONS

With the growing interest in LCA and the strengthening of associated

standards, the volume of data has increased significantly over the past 10
years. We believe this will still be the case in the future.

LCIE Bureau Veritas has therefore revised the EIME calculation system
to meet this data volume requirement.

Added values
Redesign of instances
Creation of technical nodes (Node ILCD EF3.0)
Increased maximum case study size x5 (~5,000 rows)
Optimization of queries for the calculation of indicators
Decorrelation of calculations and display

; EUREAU
| VERITAS



TRACABILITY

Make environmental claims more reliable by using dynamic, traceable and verifiable
production data.

EVOLUTIONS

It is no longer enough for companies to communicate the environmental impact
of their products and services.

Our way of producing and consuming resources must be part of a transparency

scheme while guaranteeing the achievement of carbon neutrality.
KEY ADVANTAGE

I Traceability and -
reliability of input '
data with company eime
Added values quality tools

Association of dataset

The LCIE Bureau Veritas is now preparing new functionalities.

Configurable dataset
Annual update of electricity mixes

G,
PR
2

[y
;i

1828

VERITAS



A

VERITAS



BUREAU
VERITAS



LIFE CYCLE PHASES

In EIME v6, it is possible to create as many lifecycle phases as desired. The objective is to be able
to respond to the multiplicity of requests.

NEW

= W) Cas d'étude PEP PCR ed3 v ) Cas d'étude EN 15804+A2

£ A1-A3 - Product stage
v = A4-AS5 - Construction process
B A4 - Transport
8 A5 - Construction - Installation process
~ = B1-B7 - Use stage
B B1-Use
I B2 - Maintenance
B B3 - Reparation
B B4 - Replacement
B B5 - Refurbishment
8 B6 - Operational energy use
B B7 - Operational water use
= ¥ (C1-C4 - End of life stage
B C1 - Deconstruction, demolition
I C2 - Transport
W C3 - Waste processing
I C4 - Disposal
= D - Benefits and loads beyond the system boundaries

» = Manufacturing
= Distribution
= Installation

= Use

2 End of life

KEY ADVANTAGE

I For all users, 4 templates
available

I The analysis interface adapts
to the phases

Add phase

Function available for all
users



CATEGORIZED BILL OF MATERIALS

In EIME v6, it is possible to create categorized bill of materials

B Product D

B8 Packaging (L%

Category

No Category v

KEY ADVANTAGE

I Save time to model the end of
life phase

Q, Search

© No Category
" Produit

' Packaging
 PWB




ASSOCIATION OF DATASET

In order to facilitate the modeling of upstream transport, shaping processes for waste
treatment and module D, we have created in EIME v6 a new functionality:
« Association of dataset ».

From a modeling entry point, it is
possible to manage several
datasets present in different stages
of the life cycle.

o Polypropylene (PP); [0:100] secondary production; at plant

o General information

48 Injection moulding of thermoplastics; technology mix. at plant

4B Recycling of oriented polypropylene (OPP); [0:100] production mix, at plant; Europe, RER

& Polypropylene, PP, granulate; primary production; RER

KEY ADVANTAGE

I You can combine as many
modules as you want

I The new Database manager
interface will make it possible
to create scenarios (S2
2023).

New icons

% Icons representing the
association of datasets




DATASET CONFIGURABLE

Parameterizable dataset is a dataset with at least 2 parameters. Example: a component where you can
enter a quantity (item), while modifying a surface density (kg/m?).

In EIME v6, we are creating a new type of dataset: « configurable dataset ». These are datasets
whose use is directly associated with another dataset.

# Injection moulding of thermoplastics; technology mix, at plant

o General information
& Electricity Mix; Low voltage; 2018; France, FR
NEW [y 4 iy i Lowvologe 2018 Fana R

Setting the electrical mix

KEY ADVANTAGE

I 1 process configurable
dataset = multiple results

Choice of geographical area

Modification of the default energy
consumption (if proof available)

To be discovered in the CODDE® 2023-02 database

’ 80 process configurable

dataset



EVOLUTION OF EIME V6

The fundamentals of EIME remain preserved: create an intuitive and ergonomic interface, with
continuous updates.

COMING SOON

2nd semester 2023 :
Design interface: module comparison tool
Analysis interface: normalization / weighting results

Update of export formats according to future recommendations (INIES, PEP ecopassport®)

Database manager interface
For reasons of database stability, the creation of data is inaccessible under EIME v6. The Database manager
interface will be available in summer 2023.




CODDE® NEGAOCTET &%

Generalist and sectoral Database dedicated to
database digital service

ECOINVENT PEF/OEF

wUVE

Ne

N=GA @CT=T

& 8888 (1) 8833 W 88883 (7) 8388 &

16,000 DATASETS 3,000 DATASETS

’

- .
) {0 N
7

4,200 DATASETS 1,500 DATASETS

VERITAS

R




CODDE® 2023-02

CODDE® 2023-02: Exclusivity of EIME v6 Data quality

I I Evaluation of the quality of data from the CODDE® database: available in the
720 datasets with new impacts (creation or update) EIME documentation section.

I Overwall score of the CODDE® 2023-02:
1 29"

I 0.3 pOI N1 improvement compared to the CODDE® 2022-01
database

| 1,300 datasets with information updates

**Rating scale from 5.0 to 1.0 (1.0 being the best rating). Calculated for the CODDE® 2023-01 base..

EIME v6

s comsuTANTS

NOTE TECHNIQUE TRAVAILLANT EN £QUIPE AP OF LAMER
PLUS 0F 2000 MISES A J0UR

Base de données CODDE® 2023-02

720 et v s mpics i e
7 1300 mosules e s mkes  four nformatons

New set of indicators

I Nouvelle version du set d’indicateurs PEF/EN15804+A2 compatible avec la
base de données CODDE® 2023-02 :

« Indicators for PEF EF 3.0 (Compliance: PEP ed.4, EN15804+A2) v2.0 »

VERITAS

N




CODDE® 2023-02

New electricity mix datasets
I Added 11 low voltage electrical mix datasets
I Added 68 high voltage electrical mix datasets

Mix électriques présents dans la base de données CODDE

New end of life datasets

I In order to facilitate the use of ECOSYSTEM end-of-life datasets in module
D, in particular to model the benefits generated by end-of-life treatment,
"benefits only" datasets have been created.

New material datasets

Biobased materials (biogenic GWP indicator)
Plastics

Enamel

Lead recycling

Refrigerant: R290, R32 et R23

Creation of [100:0] [0:100] tags

The tag [100:0] has been added to all dataset names only usable for the
inventory method

The tag [0:100] has been added to all dataset names only usable for the
substitution point method

Datasets conforming to both methodologies do not contain any tags

- Metals and semimetals
» & [CODDE-0085] Aluminium alloy AINiCo; primary production; Europe, RER
@ [CODDE-2319] Aluminium; [0:100] secondary production; at plant
» £ [CODDE-1092] Aluminium; [100:0] 48% recycled from clean scrap; Europe, RER
» £ [CODDE-0002] Aluminium; [100:0] secondary production; Europe, RER

VERITAS

N

Y



BUREAU
VERITAS



EIME v6 licenses release on:
I February 27, 2023, with a differentiated opening

I EIME users with a Team Manager in their
organization

I EIME users without Team Manager
I EIME v5 - v6 transition period for everyone

I Import of EIME v5 case studies to EIME v6 for

everyone I

BUREA
VERITAS



| Mg
-

AGENDA =
EIME USERS WITHOUT TEAM MANAGER

I February 27 I July 31
EIME v6 release Closing EIME v5

@

eime

I From march 2 to march 16 I May 2
Thematic webinar (replay) Import of case studies
EIME v5 -> v6

@
eime CODDE® 2023-02 T @ T

Manual import

WM 77777/ z22 22222

eime

CODDE® 2022-01
CODDE® 2020-12



A" A |

DETAILLED INFORMATION
EIME USERS WITHOUT TEAM MANAGER

L& -~
Release date @) eime JLUESS
I On February 27, 2023, you will receive an email activating your EIME v6 m u B m
I|Cense. v @ Mes projets
I Create your EIME v6 case studies with the « Project CODDE® -2023-02 » & Project CODDE (CODDE-2023-02) February 27, 2023
available at the opening of your license, having the latest version of the
database. (
Transition period
I Discover EIME v6 while continuing your EIME v5 projects: your EIME V5 license Vos cas d’étude EIME v5 -
remains accessible until July 31, 2023. & Project (CODDE-2022-01) May 2, 2023 —
& Project (CODDE-2020-12)
[~ -
Transfer of EIME v5 case studies =

I On May 2, 2023, LCIE Bureau Veritas will create a copy of your EIME v5
projects and case studies to EIME v6. Case studies created between May 2
and July 31 under EIME v5 must be imported individually by the user.



L A
- |

AGENDA -
EIME USERS WITH A TEAM MANAGER

I February 27 I 31 July
EIME v6 release Closing EIME v5

©

eime

I From march 2 to march 16 I Date to choose I Date to choose
Thematic webinar (replay) Designer license Import of case studies
opening EIME V5 -> v6

Team manager

CODDE® 2023-02
Designer

18, 10

Manual import

WM 77777 ZO,

eime
CODDE® 2022-01
CODDE® 2020-12




Release date

I On February 27, 2023, you will receive an email activating your EIME v6
license.

Workspace

I Create your EIME v6 case studies with the « Project CODDE® -2023-02 »
available at the opening of your license, having the latest version of the
database.

I Use Team Manager features to customize your license (project, set of
indicators, template). This step is important to improve the user experience.

Activation of other EIME licenses

I The Team Manager contacts LCIE (codde@bureauveritas.com) to define a date
on which users will receive an EIME Designer EIME v6 license activation email.
Date defined between the Team Manager and LCIE.

Transition period

Transfer of EIME v5 case studies

.

-

DETAILLED INFORMATION
EIME USERS WITH A TEAM MANAGER

bt

N '_‘“

— 1

Discover EIME v6 while continuing your EIME v5 projects: your EIME V5 license

remains accessible until July 31, 2023.

The Team Manager contacts the LCIE (codde@bureauveritas.com) to define
a date on which the EIME v5 projects and case studies will be copied to
EIME v6 (by July 31, 2023 at the latest). Date defined between the Team

Manager and LCIE.

The case studies created between this date and July 31, 2023 under EIME s

v5 must be imported individually by the user.

Database manager interface

For database stability reasons, data creation is inaccessible under EIME v6.
The Database manager interface will be available in summer 2023.


mailto:codde@bureauveritas.com
mailto:codde@bureauveritas.com

To be consulted from EIME v6:

I Handbook

E Step P Recommended for all !
I Detailled handbook

I Team manager
I 10 good practice sheets

I 1 CODDE® 2023-02 database guide, including
appendices (correspondence table, data quality

assessment) I




A" 2 |
| -t -

DOCUMENTATION

@eime PROJECT BE- = (k- Q- % - /
,\
25 documents J

available in EIME v6

o Regular update of P—
g documents, stay informed! ’




r WEBINAR

« Analyse interface » March 2
I « Design interface » March 7
| « Database » March 12
I « Team manager » March 16

Registration reserved for users with an EIME
license. The replays will be available to everyone
on the codde.fr website.

Upcoming English session.

1828
| BUREAU |
VERITAS




r HABITS

I 21 days is the minimum time to get used to the
change

I For some it may take longer

We recommend learning about EIME v6 features as
you go, starting with the basics.




r TRAINING

From March 2023, our training will be done on the
EIME v6 software

I EIME Designer training
I PEP ecopassport® PCR ed4 training

« DES FORMATIONS
CREATRICES DE
VALEUR »

Information & registration: codde.fr

Qualiopi »
processus certifié

%‘; 9 @ 3 REPUBLIQUE FRANCAISE
7 =D La certification qualité a ét6 déiivrée au titre de Faction suivante : actions de formations

1828
[BUREAU |
[ VERITAS |


https://codde.fr/nous-contacter/contact

LCIE Department CODDE

EIME version 6

Live with us, the evolution of EIME to meet the challenges of the LCA of the Future.
Release date: February 27, 2023

NEWS

New: Discover the 6th version of EIME

codde.fr/en

. . AP|
elime eime
NégaOctet: Evaluate the impact of your digital services

N=GA @CT=T

28388 () 8383 WM 8388 () 8sss &



https://codde.fr/nous-contacter/contact

BUREAU
VERITAS



_— !

7
fr’
,’/

Contact us

CONTACT INFORMATION

170 rue de Chatagnon

Zl Centr"Alp

B U REA U 38430 Moirans
VERITAS EoM N

_ codde@bureauveritas.com


http://www.codde.fr/

